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MISSION IBPS PO - 2023 (TARGET BATCH)

In the following question two equations are given in variables x and y. You have to
solve these equations and determine relation between x and y./fﬁlﬂ'%f@'cr eI
THTRIOT =R x AN y H {0 70 §) 3TTUeht 37 AHIRIUT ohl BT ShidT & 3 x 3T y oh s
Taier fraifa s )
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A. x>y B.x<y C.ny
E. x=y or No relation can be established

X = ymﬁéwxmﬁ?rqé’rﬁmmm%
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The Li h sh th ber of
e Line graph shows the number o —Boys + Girls ==Girls

people (Boys + Girls) visited five 80
-_

)
. =L
different parks (A, B, C, D & E) and the e

number of girls visited, out of total

60

people visited in these five parks. Read

the data carefully and answer the 50

questions. 40
T AT Uil 3TeATT-3Te1T UTeht (A, B, C,

D 3R E) ¥ Y AT i (@ H + lo o
wTefRa) i HEar SR s a aTRi 20
HATC HeA AN H | ASfRal hl F&THR 4
TITTAT g ST T LATUES UG SR TR Lo
ST S ’
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If the total number of the people visited in
park F are han the total number

of the people visited in park C and D

together and out of total people visited in

o2 F=ILy+8=[£2

park ath are 1rls, find the number of

boys visited in the | park F? a0 /{/&X >

aﬁWFﬁﬁWﬁTﬁiﬁWW% @

qTeh C 3R D | AT Tl R st Shet 0

TEAT Y 18 377erk 2 TR UTeh F H 37 9Tl
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por e it & - ergferat &, ot oy ey
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TSR <hl HEAT T HITSTT UTeh | TH?
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1. @2. 92 3.96 4.84 5.102
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What t of girls visited i k A
at percent of girls visited in par —Boys + Girls  e=Girls

with respect to the total number of

people (Boys + Girls) visited in that

park (approximately)?
UTeh A | 3T AT AW (TSh + SIS ehdT)
h et FTAT () o Hetel | foha

gfaeTa AeiehaT UTeh A HTE?
1. 41% 15 %O/X%?‘b: 375

—

e

2. 43%
(1] /I’G-B
3. 47% \!N
4. 49%
3.
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If park E charge Rs.24 for each people
(Boys + Girls) who visited the park, find 80

the total number of the revenue earned

==Boys + Girls «=Girls

by the park E?
Iq UTeh E UTeh W AT ITel Tedeh A T<h
(FTSF + oTefeRat) o o1 24 TUT AT R,

AT UTeh E RT AT TTET Y el ST
st Reveng- &L,x'sﬁ,

Rs.1166 _ ?_Q((f [y 30
Rs.1296 7 20

Rs.1248
Rs.1268
Rs.1284
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Total people (Boys + Girls) who visited

park B is what percentage more than 80

total people (Boys + Girls) who visited

park E (Approximately)?

UTeh B ® ST 16! el AT (ST +
crgRpat), uTds E i T amet et ettt
(T + reforar) ¥ Tera faerg erferen
 (eTen)? Marg :—%xm
1. 25% 3

—
39% = 3%
43%

33%

66%
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What will come in place of the question mark in the following sequence:

U

8.9 11.6
2 G|

*o?fr -3¢
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X3 Ix Y
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What will come in place of the question mark in the following sequence:

FreateRaa e 5w foree o T w® =T SR

400 274 209 181 172
(- ;5 o

) [ J
YA CH 38 . g -

169 | | | ]

353 &4 8y
168

171

17V
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What will come in place of the question mark in the following sequence:

FreateRaa e 5w foree o T w® =T SR

j:" 15 105 945

1\_/1\/ '\// ~_ — X -
X | X1 X 9
2

1.
2.3

\3/4
4. 15

S. 25
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What will come in place of the question mark in the following sequence:

FreateRaa e 5w foree o T w® =T SR

L
34\__/18\/ lb 6\_/
X0-54] X054+ x05+I X0 5+ X 0 5|

9
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What will come in place of the question mark in the following sequence:

FreateRaa e 5w foree o T w® =T SR

RZ. 18 10
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A man invested a sum at a certain rate of interest on simple interest and he go
more amount afte If he invests Rs.9600 at the same rate of interest on simple
interest, find the total interest he would get after 4 years?

Teh ATEHT «f |TLRUT ST Shi Ueh TS & UR ek T farer Rt o 39 8 i o &1g 60%
3Tferes TIST T 31 TS o8 T ST S O ATLROT SATA W 9600 T farwr shar &, at
4 AT I1E IH HeA ehaT AT THEATT? ggaa

1.

< 36x30

Rs. 2160
Rs. 2260
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many days total work will be completed? ¥ E&

A, B E 40% 3172k HITeT & AR AT THeToRt Teh ST st 9 = > ﬁ'—ﬁﬁwaﬂm%‘l I A
WW%WWW%WBWWWW% Fﬁ?lTHE?/ﬁFW

15.2 days
20 days
18.2 days
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Train A running at a speed of 54 km/h crosses a platform of length same as that of the
train in 36 seconds. If train B, which is 230 meters long crosses the same platform in
25 seconds, find the speed of the train B (in km/h):

T A 54 TeRHY/EET oY T § SIeTd U ¢ hl TaT8 o THTA TaTg o Ueh WEWhIH i 36
kg | UR Il 81 S S B, AT 230 Wiex oialt 8, IHT wiehid i 25 Hehe W U i 2,

ar & B i vt (Rrei/eer® & -
=B )R 2 o?&o+a%1o=\/?x~l%>/@5

108

1. 54 L+ = 5tv2xz<
T2 %6
B 555 = s
. 9 = vl ?
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